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(OA x OC) - (OA x OB)
cosa = — - = (1)
|OA x OC||0A x OB
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|OB x OC| = sin /ZBOC = sina
|OA x OC| = sin ZAOC = sinb

|OA x OB| = sin ZAOB = sinc¢
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cosa — cosccosb

cosa = - -
sinbsin ¢
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cosb — cosacosc

cos 3 = —
sincsina

cosc — cosbcosa

cosy = - -
sinasinb
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cosa = sinbsinccosa + cosccosb

cosb = sin csina cos 3 + cosacos ¢
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cosc = sinasinbcosy + cosbcosa
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[(OA x OC) x (OA x OB)|
|OA x OC||OA x OB|
I(OA x OC) x (OA x OB)|

sinbsin ¢

sina =
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(OA x OC) x (OA x OB) = [0A - (OC x OB)]OA — [OA - (OC x OA))|OB
=[0A - (OC x OB)]O:
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sina [OA-(0OC x OB)|OA

sina sinasinbsinc
[OB-(OA x OC)|JOB  sinf
- sinasinbsinc ~ sinb
[OC - (OB x OA)]OC  sinvy
- sina sinbsinc - sinc
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sina  sinfg  sinvy

sina sin b sine

gogboooobooboobooboooboobbooboooboobboobbooobo

— 00000000 http://wwwil2.plala.or.jp/ksp/ —


http://www12.plala.or.jp/ksp/vectoranalysis/VectorFormulae1/
http://www12.plala.or.jp/ksp/vectoranalysis/Triprod/

	球面三角形の角度
	 

	外積から出てくる関係式
	 


